
Basic Facts - Decimal Numbers 2 - Answer                                                            Name:  
 
 

Column 1 Column 2 Column 3 Column 4 

7 x 0.5 = 3.5 ½ of 25 = 12.5 ½ of 18 = 9 2.5 div by 5 = 0.5 

0.7 + 0.6 = 1.3 ⅛ of 24 = 3 ½ of 1.8 = 0.9 0.8 div by 2 = 0.4 

2.2 - 0.9 = 1.3 75% of 80 = 60 ¼ of 16 = 4 ¼ of 100 = 25 

0.6 - 0.6 = 0 0.7 + 0.8 = 1.5 ¼ of 1.6 = 0.4 25% of 16 = 4 

0.1 + 0 = 0.1 0.6 + 0.9 = 1.5 ¼ of 0.16 = 0.04 ¾ of 100 = 75 

7 x 0.7 = 4.9 0.8 - 0.2 = 0.6 3 x 0.1 = 0.3 50% of 2 = 1 

2.4 div by 6 = 0.4 0.9 - 0.2 = 0.7 5 x 0.6 = 3.0 ⅙ of 12 = 2 

0.9 + 0.1 = 1.0 7.3 + _0.7___ = 8.0 8 x 0.9 = 7.2 4.2 + 0.5 = 4.7 

5 x 0.8 = 4.0 ¾ of 16 = 12 0.7 x 8 = 5.6 8.9 - 1.0 = 7.9 

7 x 0.1 = 0.7 50% of 22 = 11 3.6 div by 6 = 0.6 4.4 div by 2 = 2.2 

6 x 0.2 = 1.2 3.5 div by 7 = 0.5 3 x 0.2 = 0.6 2.9 x 2 = 5.8 

4 x 0.5 = 2.0 9.0 - 3.5 = 5.5 0.5 + 0.5 = 1.0 4 - 0.1 = 3.9 

7 x 0.9 = 6.3 2.1 div by 7 = 0.3 0.9 + 0.4 = 1.3 5 x 7 = 35 

3 x 0.03 = 0.09 0.30 div by 10 = 0.03 0.7 - 0.3 = 0.4 7 x 0.1 = 0.7 

10 x 0.8 = 8.0 3.0 div by 10 = 0.3 0.7 x 2 = 1.4 5 x 0.6 = 3.0 

10 x 0.08 = 0.8 0.04 x 3 = 0.12 0.9 x 9 = 8.1 2 x 0.1 = 0.2 

5 x 0.08 = 0.4  5 x 0.02 = 0.1 0.4 + 0.4 = 0.8 2 x 0.01 = 0.02 

4.0 div by 0.5 = 8 0.07 x 100 = 7.0 ⅕ 0f 20 = 4 2 - 0.01 = 1.99 

3.2 div by 4 = 0.8 5.0 div by 10 = 0.5 ⅖ of 20 = 8 3 - 0.03 = 2.97 

10 div 0.5 = 20 0.03 x 100 = 3.0 ⅗ of 20 = 12 5.2 - 0.7 = 4.5 

8 x 0.3 = 2.4 ⅓ of 60 = 20 ⅕ of 60 = 12 6.3 - 0.9 = 5.4 

0.3 x 7 = 2.1 ⅔ of 60 = 40 ¾ of 40 = 30 0.8 + 0.4 = 1.2 

¼ of 48 = 12 ½ of 0.8 = 0.4 ½ of 90 = 45 ⅕ of 30 = 6 

25 % of 24 = 6 ¼ of 4.0 = 1.0 6 x 0.8 = 4.8 ½ of 66 = 33 

⅖ of 150 = 60 5% of 200 = 10 20% of 80 = 16 ¾ of __40__ = 30 
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